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B. Com. (Part I)  

EXAMINATION, 2021 

(New Course) 

(Group–I) 

Paper First 

FINANCIAL ACCOUNTING 

Time : Three Hours ]  [ Maximum Marks : 75 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u djuk 

vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- ys[kkadu izeki ls vki D;k le>rs gSa \ bldh vko’;drk ,oa mís’;ksa 

dks le>kb,A  
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What do you understand by Accounting Standard ? Explain 

the need and objectives of accounting standard. 

vFkok 

(Or) 

t; dh iqLrdksa esa fuEufyf[kr ysu&nsuksa dh jkstukepk izfof”V;k¡ 

dhft, % 

(i) ` 6,00,000 iw¡th ,oa ` 12,000 ds QuhZpj ls O;olk; izkjEHk 

fd;kA  

(ii) ` 4,50,000 cSad esa tek djok;kA  

(iii) ` 30,000 dk ‘kh?kz Hkqxrku dj ` 2,30,000 ewY; dk IykaV ,oa 

e’khujh [kjhnhA  

(iv) ` 40,000 dk udn ,oa ` 45,000 dk eky m/kkj [kjhnkA 

(v) IykaV ,oa e‘khujh ds iwfrZdkj dks ` 2,00,000 dk psd tkjh 

fd;kA  

(vi) udn foØ; ` 70,000 ¼ykxr ewY; ` 50,000½A 

(vii) Lokeh us O;fDrxr iz;ksx ds fy, ` 35,000 dh jkf’k vkgfjr 

dhA 

(viii) psd }kjk ` 2,500 ches dh fd’r dk  Hkqxrku fd;kA 

(ix) ` 5,500 ds osru cdk;k gSA 

(x) ` 30,000 dk udn QuhZpj [kjhnk x;kA 
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Journalise the following transactions in the books of Jay : 

(i) Business commenced with a capital of ` 6,00,000 and 

furniture of ` 12,000. 

(ii) ` 4,50,000 deposited into the Bank A/c. 

(iii) Plant and machinery purchased of ` 2,30,000 by 

paying ` 30,000 cash immediately.  

(iv) Purchased goods worth ` 40,000 for cash and ` 45,000 

on credit purchase.  

(v) Paid a cheque of ` 2,00,000 to the supplier of plant and 

machinery.  

(vi) ` 70,000 cash sales (of goods costing ` 50,000) 

(vii) Withdrawn by the proprietor ` 35,000 cash for 

personal use. 

(viii) Insurance paid by cheque ` 2,500. 

(ix) Salary ` 5,500 outstanding.  

(x) Furniture ` 30,000 purchased in cash.  

bdkbZ&2 

(UNIT—2) 

2- ,d O;kikjh dh cfg;ksa esa 31 ekpZ] 2020 dks vxzkafdr ryiV Fkk % 
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fooj.k 

jkf’k  

¼`½ 

1 vizSy] 2019 dks jgfr;k 2,200 

Ø; 12,000 

eky ij HkkM+k 140 

etnwjh dj dkVdj 400 

osru 1,600 

dj vkSj chek 400 

lkekU; O;; 800 

v’kks/; _.k 250 

jksdM+ 200 

cSad 2,000 

vkgj.k 690 

nsunkj 2,100 

Hkou 4,720 

 27,500 
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fooj.k 

jkf’k  

¼`½ 

foØ; 15,800 

deh’ku 670 

C;kt 40 

iw¡th 9,000 

ns; foi= 450 

ysunkj 1,540 

 27,500 

mi;qZDr ls rFkk fuEukafdr lek;kstukvksa ds vk/kkj ij o”kZ 2020 ds 

fy, vafre [kkrs cukb;s % 

(i) ,d xzkgd ls ` 120 dk eky okil vk;k vkSj bls jgfr;k esa 

ys tk;k x;k] ijUrq iqLrdksa esa dksbZ izfof”V ugha dh x;hA  

(ii) ` 150 osru vkSj ` 50 dj ds nsuk ckdh gS] ijUrq ` 50 chek 

ds iwoZnŸk gSaA  

(iii) vxys o”kZ ds fy, ` 150 deh’ku is’kxh izkIr gqvkA 

(iv) Hkou ij 10% kl dkfV,A  

(v) nsunkjksa ij 3% vizkI; _.k ds fy, izko/kku dhft,A  

(vi) 31 ekpZ] 2020 dks jgfr, dk ewY; ` 3,500 FkkA  
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(vii) etnwjh ls dkVk x;k dj ` 10A 

(viii) ekxZLFk eky ` 200 gSA  

The following Trial Balance appeared on 31st March, 2020 

in the books of a trader : 

Particulars 
Amount 

(`) 

Opening stock (1 April, 2019) 2,200 

Purchases 12,000 

Freight on goods  140 

Wages after deduction  400 

Salaries  1,600 

Tax and Insurance  400 

General Expenses  800 

Bad Debts 250 

Cash 200 

Bank 2,000 

Drawings  690 

Debtors 2,100 

Building 4,720 

 27,500 
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 P. T. O. 

 

Particulars 
Amount 

(`) 

Sales 15,800 

Commission  670 

Interest  40 

Capital 9,000 

Bills Payable  450 

Creditors  1,540 

 27,500 

From the above and on the basis of undermentioned 

adjustment prepare final accounts for the year 2020 : 

(i) Goods worth ` 120 were returned by a customer and 

taken into the stock but not entry therefore was made in 

the books.  

(ii) Salaries ` 150 and taxes ` 50 have yet to be paid but 

insurance ` 50 are prepaid.  

(iii) Commission ` 150 has been received in advance in 

respect of next year.  
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(iv) Depreciate building by 10%. 

(v) Make a prevision for bad debts at 3% on debtors.  

(vi) Value of stock on 31st March, 2020 was ` 3,500. 

(vii) Tax deduction from wages amounted to ` 10. 

(viii) Goods in transit ` 200. 

vFkok 

(Or) 

v’kqf);ksa ds lq/kkj dh fofHkUu fof/k;ksa dks le>kb,A  

Explain the various methods of rectification of errors.  

bdkbZ&3 

(UNIT—3) 

3- 1 vizSy] 2003 dks ,d dEiuh us ,d iqjkuk la;U= ` 37,000 esa Ø; 

fd;k vkSj mldh ejEer ij ` 2,000 O;; fd, rFkk mldks LFkkfir 

djus esa ` 1,000 O;; fd,A 1 vDVwcj] 2004 dks mlus ,d nwljk 

la;a= ` 10,000 esa Ø; fd;kA izFke la;a= tks 1 vizSy] 2003 dks 

[kjhnk x;k Fkk] 1 vDVwcj] 2005 dks ` 28,000 esa csp fn;k x;kA blh 

frfFk dks ,d la;a= ` 25,000 esa [kjhnkA nwljk la;a= tks  

` 10,000 esa [kjhnk x;k Fkk] 1 vDVwcj] 2006 dks ` 2,000 esa csp fn;k 
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x;kA kl la;a= ds izkjfEHkd ewY; ij 10% okf”kZd dh nj ls izfro”kZ 

31 ekpZ dks yxk;k tkrk FkkA dEiuh us foŸkh; o”kZ 2004-05 ls kl 

i)fr esa ifjorZu dj Øekxr kl i)fr ls 15% okf”kZd vo{k;.k 

yxkuk izkjEHk fd;kA 1 vizSy] 2003 ls pkj o”kks± ds fy, la;a= [kkrk 

cukb;sA  

A company purchase a second-hand machinery on 1st April, 

2003 for ` 37,000 and immediately spent ` 2,000 on its 

repairs and ` 1,000 on its erection. On 1st October, 2004 it 

purchased another machine for ` 10,000 and on 1st October, 

2005, it sold off the first machine for ` 28,000 which was 

purchased on 1st April, 2003. On the same date it purchase a 

machinery for ` 25,000. On 1st October, 2006 the second 

machinery purchased for ` 10,000 was sold for ` 2,000.  

Depreciation was provided on machinery @ 10% p.a. on the 

original cost annually on 31st March is financial year 2004-

05. However the company changed the method of providing 

depreciation and adopted the written down value method the 

rate of depreciation being 15% per annum. Give the 

machinery account for the four years commencing from 1st 

April, 2003. 
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vFkok 

(Or) 

izkfIr&Hkqxrku [kkrk D;k gS \ izkfIr&Hkqxrku [kkrk rFkk vk;&O;; [kkrk 

esa vUrj Li”V dhft,A  

What is Receipts and Payments Account ? Explain the 

difference between receipts and payments account and 

income and expenditure account.  

bdkbZ&4 

(UNIT—4) 

4- ek/ko us ,d e’khu 1 twu] 2005 dks fdjk;k Ø; i)fr ij [kjhnhA 

e’khu dk udn ewY; ` 9,000 Fkk rFkk fdjk;k Ø; ewY; ` 10,000 

FkkA Hkqxrku fuEukuqlkj gksuk Fkk % 

lqiqnZxh ds le; ` 2,000 

4 ekg ckn ` 2,000 

10 ekg ckn ` 2,000 

15 ekg ckn ` 2,000 

21 ekg ckn ` 2,000 

dqy Hkqxrku ` 10,000 
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izR;sd fd’r esa tqM+h gqbZ C;kt dh jkf’k Kkr djrs gq, fdjk;k Øsrk 

dh iqLrdksa esa nks o”kks± ds fy, vko’;d [kkrs [kksfy,A Øsrk e’khu ij 

10% izfro”kZ ewy ykxr ij kl dkVrk gSA  

Madhav purchased a machine on 1st June, 2005, on credit 

purchase method. The cash price of the machine was ` 9,000 

and purchase price of machine ` 10,000. The payment was to 

be as follows :  

At the time of delivery ` 2,000 

After 4 months ` 2,000 

After 10 months ` 2,000 

After 15 months ` 2,000 

After 21 months ` 2,000 

Total payment ` 10,000 

Calculate the amount of interest included in each  

instalment. Prepare necessary accounts for two years in the 

books of hire purchaser. The purchases depreciates the 

machinery at 10% per annum on the original cost of the 

machine.   
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vFkok 

(Or) 

tc eky fdjk;k Ø; i)fr ds vk/kkj ij cspk tkrk gS] rc Øsrk vkSj 

foØsrk dh iqLrdksa esa dh tkus okyh tuZy ¼iath½ izfo”V;k¡ dhft,A  

Mention the journal entries in the books of buyer as well as 

the seller when goods are sold on the hire purchase system.  

bdkbZ&5 

(UNIT—5) 

5- L, M vkSj N ,d QeZ ds lk>snkj gSa tks Øe’k% 40%, 35%, 25% 

dh nj ls ykHk&gkfu dk foHkktu djrs gSaA mUgksaus 31 ekpZ] 2020 dks 

QeZ ds fo?kVu dk fu.kZ; fy;kA mDr frfFk dks mudk fpëk 

fuEufyf[kr gS % 

vkfFkZd fpV~Bk 

nkf;Ro 
jkf’k  

(`) 

fofo/k ysunkj 45,000 

cSad vf/kfod”kZ 20,000 

iw¡th [kkrk %            `  

 L 12,000  

 M 15,000  

 N 10,000 37,000 

L dk pkyw [kkrk 8,000 

 1,10,000 
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lEifŸk;k¡ 
jkf’k 

(`) 

jgfr;k 24,000 

fofo/k nsunkj 16,000 

QuhZpj 20,000 

e’khujh 36,000 

pkyw [kkrk %           `  

 M 1,000  

 N 13,000 14,000 

 1,10,000 

QuhZpj ls ` 14,000] e’khu ls ` 27,000, LdU/k ls ` 15,000 vkSj 

nsunkjksa ls ` 6,000 olwy gq,A L us vf/kfod”kZ dk  Hkqxrku fd;kA 

olwyh O;; ` 1,200 gq,A N fnokfy;k gks tkrk gS rFkk mldh 

O;fDrxr lEifŸk ls 15% jkf’k izkIr gksrh gSA QeZ dh  

iqLrdksa esa vko’;d [kkrs cukb;sA xkuZj cuke ejsZ fu;e ykxw  

dhft,A  

L, M and N are partners in a firm sharing profit and losses in 

the proportion of 40%, 35% and 25%. The decided to 

dissolve the firm on 31st March, 2020. The balance sheet on 

the date is given ahead :  
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Balance Sheet  

Liabilities 
Amount  

(`) 

Sundry Creditors  45,000 

Bank Overdraft 20,000 

Capital A/c :  

 L 12,000  

 M 15,000  

 N 10,000 37,000 

L’s Current A/c 8,000 

 1,10,000 

 

Assets 
Amount  

(`) 

Stock 24,000 

Sundry Debtors 16,000 

Furniture 20,000 

Machinery 36,000 

Current A/c :  

 M 1,000  

 N 13,000 14,000 

 1,10,000 
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Amount realized from furniture ` 14,000, machine ` 27,000, 

stock ` 15,000 and debtor ` 6,000. Bank overdraft was paid 

by L. Realisation expenses was ` 1,200. N became insolvent 

and 15% amount received from his personal assets. Prepare 

necessary accounts.  

vFkok 

(Or) 

Qeks± ds ,dhdj.k ls D;k vk’k; gS \ blds D;k mís’; gSa \ Qeks± ds 

,dhdj.k ds le; dkSu&ls ys[ks fd, tkrs gSa \  

What is meant by Amalgamation of Firms ? What are its 

objects ? What accounting record is made at the time of 

amalgamation of firm ? 
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